
Graphing Polynomials 

 

1.  Given 𝟐𝒙𝟑 + 𝒙𝟐 − 𝟏𝟑𝒙 + 𝟔  𝒂𝒏𝒅 (𝒙 − 𝟐) 𝒊𝒔 𝒂 𝒇𝒂𝒄𝒕𝒐𝒓.  

 a)  List the zeros.     b)  Factor completely. 

 

 

 c)  𝑨𝒔 𝒙 → ∞, 𝒚 → ______    d)  Find the y – intercept. 

      𝑨𝒔 𝒙 → −∞, 𝒚 → ______ 

 

 e)  Sketch the graph.   

 

 

 

 

 

 

2.  Given 𝒙𝟑 − 𝟏𝟑𝒙 + 𝟏𝟐  𝒂𝒏𝒅 𝒇(𝟑) = 𝟎.  

 a)  List the zeros.     b)  Factor completely. 

 

 

 

 c)  𝑨𝒔 𝒙 → ∞, 𝒚 → ______    d)  Find the y – intercept. 

      𝑨𝒔 𝒙 → −∞, 𝒚 → ______ 

 

 e)  Sketch the graph.   

 

 

 

 

 

 

 



3.  Given 𝒙𝟑 − 𝟑𝒙𝟐 − 𝟒𝒙 .  

 a)  List the zeros.     b)  Factor completely. 

 

 

 

 c)  𝑨𝒔 𝒙 → ∞, 𝒚 → ______    d)  Find the y – intercept. 

      𝑨𝒔 𝒙 → −∞, 𝒚 → ______ 

 

 e)  Sketch the graph.   

 

 

 

 

 

 

4.  Given 𝒙𝟒 − 𝟔𝒙𝟑 + 𝟏𝟒𝒙𝟐 − 𝟓𝟒𝒙 + 𝟒𝟓  𝒂𝒏𝒅 (𝒙 − 𝟓) & (𝒙 − 𝟏) 𝒂𝒓𝒆 𝒇𝒂𝒄𝒕𝒐𝒓𝒔.  

 a)  List the zeros.      

 

 

 

 b)  𝑨𝒔 𝒙 → ∞, 𝒚 → ______    c)  Find the y – intercept. 

      𝑨𝒔 𝒙 → −∞, 𝒚 → ______ 

 

 d)  Sketch the graph.   

 

 

 

 

 

 

 


